Algebra 2CP Day 1 Activity:  four 4’s
Using parentheses and grouping symbols to follow Order of Operations, you will try to get answers that go from 0 to 9 inclusive.
Example:	
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[bookmark: _GoBack]This order gives an answer of 16.  You are to give as many orders and operations (+, -, , ) as you can to get answers from 0 to 9.
Only use combinations of addition, subtraction, multiplication, and division!
image4.wmf
16


oleObject4.bin

image5.wmf
´


oleObject5.bin

image6.wmf
¸


oleObject6.bin

image1.wmf
(4)(4)44

éù

êú

ëû

-+


oleObject1.bin

image2.wmf
1644

éù

êú

ëû

-+


oleObject2.bin

image3.wmf
124

+


oleObject3.bin

